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SECTION - 1
ENGLISH

01. Choose the incorrect options.
The clock shows the time
(1) quarter to 5
(2) three quarters past 4
(3) two quarters past 5
(4) 45 minutes past 4

02. Choose the proper punctuation mark in the end of the sentence.

‘That's an excellent idea [’

1 7 @)

3) . “4 !
03. Select the correct option.

We should cut our hair .

(1) hardly (2) regularly

(3) terribly (4) recently
Instructions for Q. 04 and Q. 05

L/’\V\\\Fresh Fruits
e Vegetables
/x\_“/\v/ro From Daisy’s shop

» healthy » juicy ") tasty

= Fruits and Vegetables é’\ >

P 59, Mint Street,
’%"? Trichy 5

SPACE FOR ROUGH WORK
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04.

0s.

06.

07.

08.

Fill in the blank with correct option.
This advertisement is based on
(1) fruits and meat (2) vegan and diary

(3) fruits and smoothie (4) vegetables and fruits

Select the motto for the advertisement.
(1) Health is Wealth (2) Truth is Gold

(3) Green and clean Earth (4) Never stop learning

Choose the correct alternative for the given sentence.
‘hooray! teacher, we want to play kho-kho’.

(1) Capital ‘H’ for hooray

(2) Capital ‘T’ for teacher

(3) Capital ‘W’ for we

(4) Capital ‘H’ for hooray and Capital ‘T’ for teacher

Choose the correct pair from the given alternatives.
(1) A flock of bees
(3) A bundle of children

(2) A flock of geese

(4) A swarm of dogs

Pick out the missing colour of a ‘rainbow.’

Red, Orange, Yellow, Green, Blue, and violet.
(1) Indigo (2) White
(3) Pink (4) Purple

SPACE FOR ROUGH WORK
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09. Choose the correct contracted form of the underlined words in the given sentence.
‘I am not interested.’
(1) aren't (2) ain't

(3) am't (4) arent'

10. Fill in the blank.

‘France is European country.’
(1) an (2) the
3) a (4) no article

11. Observe the diagram carefully and find the

answer from the alternatives.

Fold the paper in the direction.
(1) South
(2) Upward

(3) South West

(4) Downward

12. Which of the following is a permission?
(1) You are welcome (2) T drink water

(3) Please come in (4) Don't make noise

SPACE FOR ROUGH WORK
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Instructions for Q. 13 to Q. 15 :
Read the passage carefully and answer the following questions.

A dictionary is a must for a student. You can begin with simple, attractive
dictionaries and then learn to use the more difficult ones later. So, the next time
you come across a difficult word, don’t fret. Just look it up in a dictionary.

13. What is a must for a student?
(1) A diary (2) A muster
(3) A library (4) A dictionary

14. Find the opposite word for ‘Easy’.
(1) Weak (2) Just
(3) Difficult (4) Across

15. Fill in the blank with correct alternative.

One can begin with , dictionaries.
(1) simple , attractive (2) simple , difficult
(3) must , next (4) more , fret

16.  Match the correct instructions
from the given alternatives.

(1) 1-A, 2-B, 3-C
(2) 1-C, 2-A, 3-B
(3) 1-B, 2-A, 3-C
(4) 1-C, 2-B, 3-A

SPACE FOR ROUGH WORK
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17.  Fill in the blanks.

Joseph has a brand bicycle.
(1) knew (2) new
(3) now (4) no

18.  Select the rhyming word for the correct action word from the given table.

dig bib

tar fin
(1) far (2) rib
(3) fig (4) bin

19.  Fill in the blank.
, no ! My mobile is ringing.
(1) Alas (2) Oh
(3) Brave (4) Ouch

20. Choose the correct ordinal number for ‘December’.
(1) Tweltth (2) Twelvfth
(3) Twelfth (4) Twelve

21.  Find the shape of dice used in ‘Ludo’ game from the given alternatives.
(1) cuboid (2) cube
(3) sphere (4) cone

SPACE FOR ROUGH WORK
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22.

23.

24.

25.

Look at the chart and find the correct option.

Leg
I I | I |
Heel Knee Thigh ?
(1) Fist (2) Stomach
3) Jaw (4) Toes

How will Salim greet Vandana on her birthday?
(1) Happy birthday! (2) Congratulations!
(3) Best of luck! (4) Rest in peace!

Solve the riddle.
I can help you to heat

and cook different types of food.

Who am [?
(1) Microwave (2) Blender
(3) Refrigerator (4) Chimney

Arrange the numbers to make meaningful word.

N I O|D|A|R| S | U
1 2 3 4 5 6 7 8

(1) 42153687 (2) 42137586
(3) 76853124 (4) 68753421

SPACE FOR ROUGH WORK
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SECTION - II
INTELLIGENCE TEST

26. In a row Sameer is at twenty third position from front and nineteenth position
from back. What is the position of Raj from back, who is standing at 5% place
behind the middle position boy?

(1) 1eth (2) 28th (3) 13th (4) 27t
27.  In the given path while walking from ‘A’ to ‘B’ - C
how many times will you face the north direction?
(1 2 B
2) 3
3) 5
4) 6 A

North %'—

28. Some birds are sitting on tree ‘A’ and some birds are sitting on tree ‘B’. If
one bird from tree ‘A’ went on tree ‘B’ then the number of birds on tree ‘B’
will be twice the number of birds on tree ‘A’ and if one bird from tree ‘A’
will go on tree ‘B’ then the number of birds on both the trees will be equal.
Now initially how many birds were sitting on tree ‘A’ and ‘B’ respectively.

(1) 3,5 2 7,5 3) 5,7 @) 5,3

Q. 29 to Q. 33 Direction:

In the following questions, first pair has some relationship between first two
terms. The same relation holds true for the second pair. Identify the relation
and select the correct alternative to replace the question mark.

SPACE FOR ROUGH WORK
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26.

27.

28.

SECTION - II

il siél
wis @RU0HL UHRAL w32qe] Adladl 24 Dede] viowluKl sHis ¢l dl a2l
Il U9 SHI 5HiIs el RAove Heddl U Sedly ¢d?

(1) 16 4 (2) 28 4 (3) 13 4 4) 27 4

ollogel ML Wl ‘A’ 2uidedl B 2uld ugiudl *C
s2dl Aauid GuR dRg WG la?

(1) 2
2) 3

[ Yus)

3) 5

4) 6

GdR %}—

A’ Al W sdls ugll A B’ Als W sedls usl olsl 89, o4 ‘A’ Al URe)
wis ugll B> RS Wl walluliMi ovdl B’ Rl urdl ugl oMul 4l wid B’
B W s ugll ‘A’ A UR ordl ol AL UL Uil UHIA u9l; dl U3BUAHI
‘A’ B B’ B U wiqsH seal sl edl?

(1 3,5 2 7,5 3) S, 7 4 5,3

U. 5. 29 4l 33 W2 Yl -

yedl uedl ofloa ue | oydl el 9, dAdl oy ol dlog ug wd AUl uE

R 9, d dldHl 4 UAREAdL 2dld 209415 e waidmidbl Al

s5d 51AL 514 W2
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29. Cool : hot :: strong : ?

(1) brave (2) thin (3) week (4) weak

30. Shyamchi Aai : Sane Guruji :: Wings of fire : ?

(1) Jayant Naralikar (2) Dr. A.PJ. Abdul Kalam
(3) Pranav Mukherji (4) Dr. Homi Bhabha

31. 37 :40 :: 25 :7?
(1) 19 2) 27 3) 21 4) 30

32. 14 : 15 :: 32 :7
(1) 35 2) 42 3) 31 4) 18

33.  Question Figures:

VI A O i
. .. . ?
A %v @@ '

Answer Figures:

Ol < G|
O |l |o ]| g

(1) (2) 3) “4)

SPACE FOR ROUGH WORK
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29. 59 2 Ml i odlaa : 7

(1) G™Wudl (2) UvRAl (3) 4x (4) Gw
30.  2udedl HLo:odl A R o w7

(1) odd «rvils?

(2) Sl »luley vogd sAM

(3) uQIA Yuwy

4) <. ¢l cue
31. 37 : 40 = 25 ¢ 7

(1) 19 2) 27 (3) 21 4) 30
32, 14 : 15 32 ¢ 7

(1) 35 2) 42 (3) 31 4) 18

33, um suglawi:

v] [A

A

_ﬁ@@

Gz suglazii:

V| [

ir

Q4

(1)

U
o6

4

s5d 51AL 514 W2
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34.  John, who is born on 5™ January 2001 Friday, is 100 days elder to Shanaya

then on which day was Shanaya’s first birthday?

RS A M A A AR A

(1) Thursday (2) Tuesday (3) Wednesday  (4) Monday

4
N

e Ve sVe sVe sVe sVe sVe sVe s

35.  Select the number to replace the question mark in the given grid.

751 7 |25

KO AR MR AR AR M M A AR MR AR AR A

18133 |63
? 15212

(1) 46 (2) 42 3) 35 (4) 48

36. In a certain code language if 25 = 532, 57 = 725 and 34 = 413 then how
will you write 14 in the same code language?

(1) 314 (2) 451 (3) 431 4) 514

Q. 37 and Q. 38 Direction:

Identify the figure which exactly matches with the question figure from the
four alternatives given below.

37. Question Figure: Answer Figures:

(1) ) 3) 4

SPACE FOR ROUGH WORK
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-~

34. 5 oaeyuiRl 20014 YsAR oreMAl Odd Uil Sdi 100 [cau Hi2l 9, dl
Aedldledl uedl oreHledu sul AR Ul ¢d?

(1) 234R (2) #HaANAR (3) oHARr (4) «HAR

35. oAl AsEHL UARGAAL 221 58 vl 21997

751 7 |25
18133 |63
?7 15212

(1) 46 (2) 42 (3) 35 (4) 48

-~

36. s Auslas ML 25 = 532, 57 = 725 wid 34 = 413 BH quun 9, dl
d o Aslas @Ml 14 210 dva 3dl <ld auan?

(1) 314 (2) 451 (3) 431 4) 514

U. 5. 37 i 38 HIZ YUl -

-~

AlRdl uz ugla wE citoludl 2usla walkil wuglaxial il

37.  uzd sugla: Gz zuglawii:

(1) 2) €) 4

s5d 51AL 514 W2
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38. Question Figure: Answer Figures:

(1) (2) (3) 4)

39. In the given Venn diagram numbers indicate the students in the school who
like the activities like Dance, Drama and Music. How many students like at
least two activities?

< Dance

Music ———» pa
<—— Drama

(1) 59 2) 33 (3) 46 4) 20

Q. 40 to Q. 44 Direction:

In each of the following questions three terms are given with some common
relation. So their group is formed. Select the correct term from the alternatives
given which has the same common feature of the given group.

40. Storm, Tsunami, Flood
(1) Rain (2) Accident (3) Famine (4) Ocean

SPACE FOR ROUGH WORK
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38.  u2q sugla: Gz suglazii:

(1 ) 3) 4

39, 2udl wuslami vis WOUMHIAL Ged, AAl2d Bid dlEddid vl ARIAARA]L Hval
gdldl 9, 2 uddl w9l 291 ol & dw YRl vl sedl?

R

(1) 59 2) 33 (3) 46 4) 20

U. 5. 40 dl 44 W2 YAl -
AlAedl usMidAl 20 ugld 25 [Afre [Agudl AR1ad ogd AuRr 2 9, d [4aual

-~

Ul @ ogaUl olfolud e vulumidl il

40. AR, Y], HEIWR
(1) aR¥IE (2) His¥HIA (3) gsla (4)  HEIRPR

s5d 51AL 514 W2
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41.  Potter, Carpenter, Doctor

RS A M A A AR A

(1) Wood (2) Medicine (3) Study (4) Tailor

e Ve sVe sV sVe sV sVe Ve

4
N

42. 935,717 4,8 (13)3

(1) 8 (26) 5 2) 7(23)5 (3) 7 (17) 3 4) 6 (20) 2

Kl
b

43. 18 27 36

KO AR MR AR AR M M A AR MR AR AR A

42 > 63 ° 84
24 1 2
O @ T 3 2 @ 55

44. Question Figures:

AN T2) [HID || 2

Answer Figures:

AN Y

(1) (2) (3) 4)

45. In a certain code language if [3, 4] [%] = 26, [1, 3] [%] = 23 and

[2, 5] [g] =47 then in the same code language how will you write [2, 7] [%]7
(1) 52 2) 20 (3) 42 4) 62

SPACE FOR ROUGH WORK
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41.

42.

43.

44.

45.

w[HIA, UL, VISR
(1) Al¥ard (2) A™q (3) =i 4) 2d

9(31)5, 7(17)4 , 8(13)3

(1) 8(26)5 2) 7(23)5 3) 7(17)3 4) 6(20)2
1827 36

42 > 63 ° 84

Ol @ o 3 30 Ot

uze, siglasil:

AN ) [HID || 2

Gz uglaii:

< S Y

(1) ) 3) 4

2y wiblis o [3, 4] [2] = 26, 11,31 [5] = 23 w12, 57 [§]=47 =

qauid 9, dl d o wisls Ml 2, 7] [%] 3l A qwud?

(1) 52 (2) 20 (3) 42 4) 62

s5d 51AL 514 W2
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46. Statement A : Sourabh is 17 years old and he is three years younger than Seema.

Statement B : Sharayu is younger than Sharad, her age is 21 years.

RS A M A A AR A
b b e b b b b

Select the correct conclusion of statement A and B from the given alternatives.

w4
R

(1) Sharayu is younger than Sourabh by 4 years.

(2) Sharad is younger than Seema.

(3) Seema is 14 years old.

KO AR MR AR AR M M A AR MR AR AR A

(4) Sourabh is youngest in all of them.

47. In a certain code language if COW = 274, CAT = 684 and WET = 825 then
in the same code language how will you write GOAT? [The order of letters
and numbers may not be one to one.]

(1) 4768 2) 7186 (3) 8765 4) 1785

48. In the following question select the correct alternative to replace the question mark.

N

(1 5 2) 4 (3) 3

49. Observe the table of alphabets and signs and
find the word opposite to ‘Good’.

A B C D E F G

Al O| ® | + ° I \
() OA+ 2) @A+
3) e O+ 4 Oe®

SPACE FOR ROUGH WORK
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46.

47.

48.

49.

[atq -

(21) AR 17 ¥l 8 21 2dlH sl A9 A <l 9.

(o) 92y e skdl <edl 9 ddl G 21 ad 9, 21 wdl dlAar Ul sy
ViqUld 2135 9 d uald uedl «dsdl s

(1) 27y ARM s2dl AR el «dl .

(2) wre «lML SRl il 9.

(3) wdlwdl Gw 14 ad ©.

4) GHHl Al <edl AR 9,

—~~

-~

s ABlAs ®UHE COW = 274, CAT = 684 uid WET = 825 »iH quiy

N

9, dl d o Alas smmi GOAT 21 ot 3dl <ld quua?
(YAl : 28R] 2 2isldl $H WRull ¢l oy vid «l.)
(1) 4768 (2) 7186 (3) 8765 (4) 1785

Alfdedl usHi uAHRICAAL 2 585 dval 21997

A o 2

(1 5 2) 4 3 3 4 1

&

] 2 5 ol $ A4 | sl | W | oidgRar | eld
+ - ° A O v | ] + #* @ X
GURel dsclHidl wiaRl, Rigdidl Gualdl stld ‘62’ 21 ol [Qztaldll ot
5dl <d qual?
1) +# @ e x 2 O A[]x
B) - Vv A x 4 -v A=

s5d 51AL 514 W2
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50. How many quadrilaterals are there in the given

figure.

RS A M A A AR A

e Ve sVe sV sVe sV sVe Ve

(1) 60

4
N

2) 30

Kl
b

(3) 33

KO AR MR AR AR M M A AR MR AR AR A

/TN

1.
> 5

1 2 3 4
6

Observe the given figure. When figure is folded on lines then which of the
following cube is not formed?

1 1 1 3

2 3 2 2

(1 2) 3) 4

52. In the given series, select the correct alternative to replace the question mark.

NOOD , OO0/, XA, ?

m /ANOO CNVANISTA
O VAN A CHNAYANS

SPACE FOR ROUGH WORK
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50. el 2uslami adssiodl dval sedl 97
(1) 60
2) 30
3) 33
4) 32

51. 5

1 2 3 4
6

wudl 9 ARUA juulld cusypidl awlld ad qur s2dl <dlAd Wl 59 adigla

auiz 49 «el?
1 1

2 3

2

(1 (2)

3)

2

4

52.  <dlidl Rsamilasimi naReadl 2ad 2uadRrR oga uaiaHiEl il

INOOS , OO0/, XN, ?

n NOO
® (O/A\AOO

@ NSO
CHAYANS S

s5d 51AL 514 W2
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53. Identify the pattern of numbers in the series and select the wrong term.

3, 1, 6, 7, 10, 26, 15, 63, 21

(1 1 2) 7 3) 15 4) 21

54. Varsha was facing the setting sun, she turned at 135° twice to her right side
and went straight in her house then in which direction is the door facing?

(1) South (2) South-East (3) North (4) North-East

Q. 55 and Q. 56 Direction:
In each question a problem figure is held vertical above water surface. Identify
its water reflection and select the correct alternative.

55. Question Figure: Answer Figures:

(1) ) 3) 4
56. Question Figure: Answer Figures:

(1) (2) 3) 4

57.  Which of the following is the correct example of homophone?

(1) Seek - sick (2) Ship - sheep (3) Two - to (4) Ate - at

SPACE FOR ROUGH WORK
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53.

54.

Al dvarifasmidl dvadl [@lve s1owigel Rdl 9, d sH tuqul @
AHlAL 2441 UE DAL

3, 1, 6, 7, 10, 26, 15, 63, 21

(1) 1 2) 7 (3) 15 4) 21

VUYHAL Ydd AHzsR sl Qul 135 g ol quid orMell dzg qolld dwl Y
gHl UAl sdl, dl akd udusk 59 [Gwmi eu?

(1) <l (2) Al (3) Gw 4) S

U. 5. 55 i 56 HI2 YUl -

5S.

56.

57.

AlAdl w2 vuglad weilHid ulaloier vuiil Gaz »ugldidl aial.

2, sigla: Grir zuglawii:

(1) (2) 3) “4)
Uz sigla: Gz zuglawii:

(1) 2) 3) 4)
Al Usl oAl « €l ddl e sAl?
(1) 28R (2) U= (3) 4 (4) AU
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RS A M A A AR A
b b e b b b b

w4
R
EEE R U AE RS RS RERE R R RS
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58.

59.

60.

Read the poem carefully. Find out how many more or less three letter words
than the 7 letter words are there in the poem.

‘Twinkle Twinkle little star,

how I wonder what you are?

up above the world so high,
like a diamond in the sky.

(1) More by 3 (2) Less by 3 (3) Less by 2 (4) More by 4

ABCDE FGHIJ KLMNO PQRST UVWXY

In the above given alphabet series which of the given pair of alphabets indicate
the difference % times the difference between letter ‘H’ and letter ‘R’.

() D-N 2) K-W (3) M- X 4) E-R

In the given number series the digits of every number are interchanged to form
a new series. What is the addition of the prime numbers in the new series?

13, 9 , 17 , 53 , 37 , 76 , 19 , 4l

(1) 180 2) 301 (3) 300 4) 181

Q. 61 to Q. 65 Direction:

61.

62.

63.

Select the odd term.

(1) House (2) Planet (3) Cottage (4) Home
(1) 54 2) 78 (3) 66 4) 36
(1) 192 2) 312 3) 732 4) 726

SPACE FOR ROUGH WORK
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58.

59.

60.

dAlRidl sid UlsaMi -SRIed AoLL Rl S-sRIed Aogidl dval SeqiEl 9]
vgql sedidl quR ©97?

wid yaid Aad 6l
UHAAL WAL, o4,
vz wioyqdl dlzi!
Yy dRL sl on,
sizl 204, 552 2u0d, MUl dl 2ud,
wigldl arR A4 4R, B k]l ae o,
M Uy s o
(1) 2 d aark  2) 3 dl il (3) 2 dl wyl (@) 3 dl qur

ABCDE FGHIJ KLMNO PQRST UVWXY

GURl 2RUOUHL 'H' 2l 'R’ 2l 2820 ¥l 2A194L ERIdAl Avul $2di

% . Rl <3l UGl 55 oadlui €9 ?
() D-N 2) K-W (3) M - X 4 E-R

dlRidl dvamiouidl ucds Avadl isidl Al vicdoidl sKld Quir gl
dval Ul Yo wdvaidl R0 Sedl 99 ?

13 , 95 , 17 , 53 , 37 , 76 , 19 ., 41
(1) 180 (2) 301 (3) 300 (4) 181

U. 5. 61 4l 65 W2 YUl -

61.
62.

63.

oAl olfolUdl 4 €l d ue 2lavil ddl waid sHisd ada 2l

(1) ™ 2) A (3) e (4) gd
(1) 54 2) 78 (3) 66 4) 36
(1) 192 2) 312 (3) 732 4) 726
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4
N

e Ve sVe sVe sVe sVe sVe sVe s

KO AR MR AR AR M M A AR MR AR AR A
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64.

65.

66.

67.

—
—
() @ G) @

[ ]

]
(1) 2) 3) 4)

Rahim’s todays age is twice of Ram’s todays age and % times John’s todays

age. If three years ago Ram’s age was 9 years then what is the sum of todays
age of all three of them?

(1) 60 (2) 51
(3) 54 4) 58

In a certain code language if Tiger is called as Lion, Lion is called as Shekaru,
Shekaru is called as Deer, Deer is called as Elephant then who of the following
is called as Maharashtra’s state animal?

(1) Tiger (2) Lion
(3) Shekaru (4) Deer

SPACE FOR ROUGH WORK
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64.

65.

66.

67.

—
—
e G) @

]
(1) 2) 3) (4)

(1)

N oY

EIHAl 2ol GU Al 2ol GuEUl MBIl 2d oAddl lsrdl Gzl %

=\ AN

aull 9. AHAL AVl a¥ uddldl GHR 9 M Sl dl d AVl syl Guel
WAL sedl 9M ¢u?

(1) 60 2) 51

(3) 54 (4) 58

Qad [Re sélal, Red as3 sélol, as3d el sélul, ad gl sélul, dl
HeRM2d sl sid 5897
(1) Qe 2) e

(3) Us3 4) &l
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68. In the adjacent figure how many triangles

are there?

RS A M A A AR A
R A

(1) 12

Kl
e

2) 11

3) 8

“4) 9

2SR UEUEUEUERNE RS RS R RPN

Q. 69 to Q. 71 Direction:

Identify the sequence in the given terms / figures and select the correct alternative
to replace the question mark.

69. 841, 7, 361, 289, 169, 121

(1) 729 (2) 441 (3) 625 (4) 529
70. 91, 82, 74, 67, ? , 55, 50, 45
(1) 61 (2) 58 3) 62 4) 57
71. Question Figures:
o
= [T
o e
Answer Figures:
T e e T -T o
(1) 2) 3) 4

SPACE FOR ROUGH WORK
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A B CDE

F G HTIIJ

KLMNO

PQRST

UvwXyY

68. <Al 2uslami s sea Bisiar 97

(1) 12
2) 11
3) 8
“ 9

U. 5. 69 4l 71 W2 YAl -
AlFddl ueldl s dldul AWl uARGAAL U 2iad ue waikiHiEl sl

69. 841, 7 , 361, 289, 169, 121

(1) 729 (2) 441 (3) 625 4) 529
70. 91, 82, 74, 67, 7 , 55, 50, 45
(1) 61 2) 58 (3) 62 4) 57
71, u2q suglasii:
-
—> l < ?
- -
Griz suglazii:
R
(1) 2) €) (4)
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RS A M A A AR A
b b e b b b b

w4
R
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Q. 72 and Q. 73 Direction:

72.

73.

74.

7s.

Find out the mirror image of each of the following question figure from the
alternatives given.

Question Figure: Answer Figures:
[ ] o [ J
o o
(D 2) 3) 4
Question Figure: Answer Figures:
(D ) 3) 4

If your friend misbehaves in front of everyone then what will you do?
(1) T will beat him there itself.

(2) T will breakup the friendship.

(3) I will dishonour him amongst friends.

(4) I will explain him properly about why he should not misbehave.

The school gives you the responsibility of the section, where you have never
worked then what will you do?

(1) I will insist to get the work changed.

(2) I will try to understand the method of that work and try to do it efficiently.
(3) If my work is not changed then I will misinterpret their behaviour.

(4) T will accept the responsibility without understanding the work.

SPACE FOR ROUGH WORK
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W 5. 72 i 73 HIZ YUl -
AlAedl uzgladl 200 wlane 34l svug d wail Gz 2uglaviisial uzie sl

72. U2 sugla: Gz wuglaaii:

(1) 2) 3) 4)
73. U2 sugla: Gz wuglaaii:

(1) 2) 3) 4

74, AHRL Mol ofldl WM A4 A0 dq dAdd sd) dl ad g sral?
(1) 4l of dd HRU.
(2) asl adl WAl Al Al
(3) [l ddl ol sl
(4) Radd €l 2 U dd aalud dd duoadld scal.

75, Add SURY s A s €l ddl [AeRidl sraleiei]l aonsd dxd il dl dad g
5297
(1) s oigdd]l 20Ul 2idl 2UAES S
(2) sl 23U UqHY 4 d s1H AdlRHA Ad saldl Wded s3la.
(3) s ogdl 4 21 ddl dRkeirr 2l
(4) sl 23U qHY A 49 ordleie]l 2dlsila.
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SV Ve Ve e Ve Ve SV SV SV e SV SYe o Y

KO NI M A SIS MY MR A S ALY SIS A

SVe Ve sVe sVe sV Se SV SV SV Ve SV V. SV

KNI M M MY MY MY M MY MY A M MR
14

c

54 SIAL 51 Hie

SVe SV SVe SV Ve Ve Ve Ve Ve Ve Ve SVe SVe
R RPRRRPRRRRRPRRY
N 7UN 7N 7N PN 7N 7H\ 7N FON\ PO\ FON 7O\ TN\ 7%
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